@ Q;@ %:% Negatiiviset eksponentit 10

Nimi: Paivimaara: _ Pisteet: __

1072 = 10D =

9x 100 = 3x 1003 =
710,4+ 1002 = 5x 100D =

2% 107 = 739,8 x 100 =
1077 = 456,6+ 100D =
-3x10° = 1002 =
295,7+107Y = 7% 1002 =

7% 107 = 8 x 1003 =
—2x 1002 = 3% 10° =
337,4 % 107 = 229,6+ 1002 =
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@ Q;@ %&7 Negatiiviset eksponentit 10

Nimi: Paivamaara: _ Pisteet:
1072 = 0.01 1077 =0.1
9 x 107 = 0.0009 3 x 107 = 0.003
710,4 + 1072 = 71040 5x107Y =05
2% 1072 =0.02 739,8 x 100 = 0.7398
1072 = 0.01 456, 6+ 107" = 4566
—3x10°=-3 107% = 0.01
295,7+ 107 = 2957000 7x 1072 =0.07
7 % 10% = 700 8 x 100 = 0.008
-2 x 107 =-0.02 —3x10°=-3
337,4 x 107 = 0.3374 229,6+ 1072 = 22960
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